asym_atll

asym_atrl

asym_atl2

asym_atr2

run6367 000 regressionm-asym ai VS |

diff_ bpm1X

10000

5000

=5000

10000

15000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
|

-Bﬂ =60 =40 =20 0 20 40 60 80
diff_bpmXum

d'
20000

15000

10000

5000

=5000

10000

15000

c v by b b b v s bavya byl
20000 —Eﬂ -60 40 =20 0 20 40 &0 8O

difi _bpm1Xum

40000

30000

20000

10000

10000

20000

30000

I

==
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

40000 =

50000 L Lo bvoa v bvva v bvva bvaabvaald

-80 -60 40 -20 O 20 40 60 8O
diff_bpm1Xum

diff_bpm1X

40000 —

20000 —

20000 —

0000 [~

40 &0 80

— 700

400

300

200

100

—{70C

400

30c

200

100

300

200

100

400

300

200

100

15000 |- A
- — a5
10000 [~
- —30(
5000 —
- 2E(
of
- 200
=5000 - 15(
10000 [ 10
15000 [ = 50
_ll L1 1 |II 1 1 |II II| L1 1 I| L1111 I|I L1111 ﬂ
-3 20 10 ) 10 20 an
diff_ bpmdaYium
d '
20000
a —400
15000 |
n —a5r
10000
- —lanr
5000
- 25(
eE 200
~5000 £ 15¢
10000 100
15000 50
EﬂDUU _ll L1 I| L1 1 I| | I | |I [ | I| L1 11 |I L1 1 ﬂ
_ap 20 10 ) 10 20 an
diff bpmdaYium
diff
- —a5(
40000
3p00o —30(
20000
- —25¢
10000
- 200
(o
10000 | 15(
20000
- 100
ap0oo
- 50
40000
a [ |
NN EEEEE NN NN NN FEEE
S0000 7 20 10 ) 10 20 a0 ©
diff_ bpmdaYium
difL
I
- —a5(
40000
i —anr
20000 - o
ﬂ -
20000 —
40000

" bpm:

15000 |- gor
10000
B —{ 500
5000
" 400
o ®

C 300
~5000 |

E 200
10000 -

- 100
15000 -

_ll II| L 11 |I II| L 11 |II I|I [ III I|I 1 1 ﬂ

B0 -60 -40 -20 O 20 40 60 80

difi_bpmdaX/um
d '

- — _
20000 6oL
15000 - eor
10000 |

- —40(

5000 —
- n
= 300
~5000

" 200
10000 - =

- 100
15000 | m

- [ [

EDDDD | L1 1 |II I|I II| L 11 |III |II III II| L1 1 ﬂ

80 -60 -40 -20 © 20 40 B0 80

difi_bpmdaX/um
l

5 —s0c
40000
30000

- —lanc
20000 |
10000 -

= 00

oF
10000 - S0t
= [ |
20000
30000 | 10
40000
50000 T I T T R N 0
B0 -60 -40 -20 O 20 40 60 80
difi_bpmdaX/um
diff_ bpmdeX
I
40000 | —|=0C

i —lanc
20000

I g

| a0

[' L

N |

i 200
20000 -

i 100
40000

|II I| 11

diff_bpmdeY

15000

10000

5000

=5000

10000

15000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
|

I|I 1 11 |II II| 1 1 II| 1 11 I|I 1 1 I|I 1 11
a0 -20 -10 0 10 20 a0
diff_bomdeY/um

d.
20000
15000

10000

5000

=5000

10000

15000
H N

A AT N A T T B A O O
20000 —ﬂﬂ =20 =10 o 10 20 30

diff_bpmday/um

diff hpmélcY

40000

30000

20000

10000

10000

20000

30000

==
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

40000

v v v v v v b b b
50000 =30 20 =10 1] 10 20 an

diff_bpmdaY/um

diff_bpmdeY

40000 — u

20000 —

20000

"n N

40000 —

COLZ postian pns="

—45(

—35(

250

200

150

100

—45(

—35(

25(

200

150

100

—{35(

—25(

— 350

15000 - —{30t
10000 — i -
5000
D:-
B [ |
~5000 |-
10000 [
15000 — - -
_II [ III 1 1 |II 11 |II [ III 1 1 |II 11 |I ﬂ
150 =100 =50 0 50 100 150
diff_bpm12X/um
d '
- L
20000 5 e
15000 |
- —|o5¢
10000 |
5000 - —200
o 15(
-5000
5 100
10000
- 50
15000
Eﬂﬂﬂﬂ :II [ | II [ | I| L1 1 I| L1 1 1 II [ | I| L1 1 I| | ﬂ
B0 -100  -50 ) 50 100 150
diff_bpm12X/um
-
5 —lanr
40000
- —{701
30000
20000 - 6oL
10000 — 50(
oF
10000 |
20000
o000
40000 F
: n "
50000, ! clav v b by b a baa o b
B0 -100  -50 0 50 100 150

diff_bpm12X/um

diff_bpm12X

40000 —7
- —g00
20000
I {501
D -
20000
40000
| H
111 III L 11 ||| 11 ||| III L 11 || L 11 |||
150 -100  -50 0 50 100 150

diff_bpm12X/um



reg_asym_atll

reg_asym_atrl

reg_asym_atl2

reg_asym_atr2

run6367 000 re

diff_

15000

10000

5000

=5000

10000

15000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

d'
20000
15000

10000

5000

=5000
10000

15000

-Bﬂ =60 =40 =20 0 20 40 60 80
diff_bpmXum

20000

-Eﬂ -60 40 -20 O 20 40 60 BO
difi _bpm1Xum

diff _

15000

10000

5000

=5000

10000

15000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

d'
15000

10000

5000

=5000
10000

15000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

-Bﬂ -60 40 20 O 20 40 60 8O
diff_bpm1Xum

—Bﬂ -60 -40 -20% 0 40 &0 80

— 700

400

300

200

100

—{ 70

400

30c

200

100

— 700

400

300

200

100

400

300

200

100

oression -reg

B — —45(
10000 [ —35(
- —30(
5000 [
- 25
0
- 200
_5o00
- 150
15000 [ . 50
B | L 111 | L1 11 | L1 11 | L 1 11 | L1 11 | L 111 ﬂ
30 20 10 0 10 20 a0
difi_bpmdaYium
difL
- I
20000 |
- ™ —450
10000 | —{as(
5000 300
- 25(
o
- 20(
5000
- 150
10000
- . 10
— |
15000 5 n o
E'DDDD : | L1 1 1 | | I I | | | I | | | I | | L1 11 | L1 11 {'
_ap 20 10 0 10 20 a0
difi_bpmdaYium
difL
- —a50
15000 [
- —s00
10000
- —ag(
5000 —30(
[ 25(
ﬂ:j ..
_ 200
~5000 |
" 15(
10000 10
i [ | D
15000 [ -
Loga oo a vt a g a by aa b 0
_ap _20) 10 0 10 20 a0
difi_bpmda¥ium
d '
15000 [ aor
10000 |- N
B — 300
5000 [~
- [ ]
of
~5000 |
10000 |-
15000 [~

af@'m

15000

10000

5000

=5000

10000

15000

B | 1 11 | 111 | 1 11 | 1 11 | 1 11 | 1 11 I 111 | 11 1
80 -B0 -40 -20 O 20 40 60 80
diff_bpmdeX/um

diff

20000

15000

10000

2000

=5000

10000

15000

20000

Clov s by Loy by boava togan by g bag g
-80 -0 40 <20 0 20 40 60 80
diff_bpmdeaXium

91

15000

10000

2000

=5000

10000

15000

[ |

Clovr b v bvrr berr bv v bvr b e
80 -B0 40 <20 (1] 20 40 e B0
diff_bpm4eXium

diff

15000

10000

5000

~5000

10000

40 60 80

..

300

200

100

1]

400

300

200

100

1]

400

300

200

100

1]

30C

200

100

"1308

diff_bpmdeY

15000

10000

5000

=5000

10000

15000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

=30 =20 =10 1] 10 20 30

diff_

20000

15000

10000

5000

=5000

10000

15000

diff_bomdeY/um

20000

=30 =20 =10 1] 10 20 30

91

15000

10000

5000

=5000

10000

15000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

diff_bpmday/um

hpmélcY

—Eﬂ =20 =10 1] 10 20 a0

9-.

15000

10000

5000

=5000

10000

15000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

diff_bpmdaY/um

hpméleY

tpan.

=20 =10

png s

450

400

a5(

300

250

200

150

100

45(

400

a5(

300

250

200

150

100

45(

400

a5(

400

a5(

300

10000

5000

=5000

10000

15000

I
sy
Ln
=

°1

=5000

10000

15000

20000

=150

10000

2000

=5000

10000

15000

I
—y
n
=

~100 =50 0 50 100 150
diff_bpm12X/um

=100 -50 0 50 100 150
diff_bpm1 2X/um

~100  -50 0 50 100 150
diff_bpm12X/um

diff_

15000

10000

5000

~5000

10000

15000

-150

=100 -50 0 50 100 150
diff_bpm12X/um

300

250

200

300

25(

300

25(

200

15(

100



asym_atll

asym_atrl

asym_atl2

asym_atr2

diff bpm1X

%2 / ndf 25.94 / 23

pO -8.983 = 18.004 I )

p1 54.16 + Ti//ﬂﬂ H
I

_3000 UH _

=4000

~6000

=8000

10000

12000 Bl i |I| el b Lo bvaa by baaa b
B0 <60 40 <20 O 20 40 60 BO

diff_bpm1X

8OO0
¥2/ ndf 16.4 /23
BO00

4000 H pO 11.88 £ 20.79

2000

III+++ p1 —-65.05 + 2.09
t

1]
=2000

-4000

IIII

-6000

~8000

10000

12000 Iy Ly by b b bona by b Laaa 1
-80 -60 40 =20 O 200 40 80 BO

diff_bpm1X

: | — 5
ool y2/ndf  27.44/23
[ p0 11.94 £ 54.67
10000 | p1 -30.02 £ 5.50
ﬂ:- ithﬁﬂhﬁh-uimrﬂﬂﬂJ
10000 ;
20000 :'
Ol v bva boaa b b bavaa bana by

—Eﬁ -60 -40 20 0 20 40 60 8O

diff_bpm1X

¥ / ndf 31.09/ 23

p0 34.87 £51.65

2000

p1 108.21 5.2 }

1]

=5000

10000

15000

IIIIIIIIIIIIIIIIIIIIIIIII
—_—

so000 Bl I|| el b g b v Py Paaa 1y

%

bpm4aY

i %2/ ndf 43.56 /39
2000~ - { p0 -16.17 + 18.28
- 1 -12.81 + 3.
L +I JﬁI{pﬂ# 1p 12.81 + 3.26
- ]I -|-|-T || |_
2000 1— I
=4000 ;
—EEDD:;
—IIIIIIIIIIIIIIIIIIIIIIIIIIIIII
=30 =20 =10 1] 10 20 an

diff bpmd4aY
¥2/ndf  42.39/39

p0 20.72121.14

p1 3.721+3.79
-] _
et |

=30 =20 =10 1] 10 20 a0

diff_bpmdaY

¥Z [ ndf 46.28 / 39
p0 24.84 £ 54.03 ,
p1 3326 9.7 l-’
5000 -
= IIIIIIIII I}
DE_ - { } + .
3 |
5000 : M IﬂII
10000 | I }I
15000 f— J
20000 EI AT T T T A I T O A
=30 =20 =10 0 10 20 an
w2indf | 412739

pO 42.64 £ 51.29

p1 316.7+ 9.2 h

EI}DDE_ E | {}IIIIIII‘II I
oF
E

~5000 E_ NII‘.H_I'I I
10000 |- 1 I
15000 — I
20000 [

diff_bpmdeX

%2/ ndf 21.58 /24
p0 -9.078 £ 18.067
p1 534+ 1.8 +III
ofF I .
. H

~2000 - ]LI f i
—4000 b I
-6000 | I
~8000 |
10000 |
12000 ;'III Ll f.l pad v b bvaa bea g braad

-80 -60 -40 =20 O 20 40 60 8O

diff_bpmdeX

BOOO
¥2/ndt 2979/ 24

- p0

6000

4000 12.57 £ 20.89

2000

0

IIIIIIN\\IILW ~63.14 +2.12
- IJr _

= 2000 I*ﬂ t
~4000
~6000
~8000

10000

12000 )y vy by a by aa b a by Lo g b baa o |
-80  -B0 40 <20 0 20 40 60 80

diff _

¥2 / ndf 25.96 / 24
20000

15000 p0 23.27 + 54.95

10000 p1 -9.86 £ 5.59

5000 II

0 IIII tt I
5000
10000

15000

20000

[T

-80 -60 -40 -20 O 200 40 &0  BO

diff _ bpmdeX
¥2 [ ndf 32.59/ 24

pO 48.16 £ 51.74

p1 12541+ 53 I

L
e II

i
| |

10000

diff_ hpmélcY

- *? | ndf 24.73 /37
2000 =
vo00 E- _ p0  -15.37 + 18.28
oF - IIIIIIIIITII"”’""II p1 -10.91 £ 3.28
- T
~1000 H‘
= 2000 ;
~3000 — i
=4000 ;— k _
~5000 —
~g000n - I 1111 I L 111 I 1 111 I 1111 I L 111 I L1 11 I
=30 =20 =10 0 10 20 a0
diff bpmdeY
¥/ ndf 48.2 / 37
p0 17.23+21.15
p1 10.54 + 3.81
of- _—I IIWMIII 4]
: I IIIIII I I |
- 2000 — }
~4000 |- 1 I i
_E'I:III:II:I _I I L1 1 1 I L1 1 1 I L1 11 I L1 1 1 I L1 1 1 I L1 11 I

=30 =20 =10 0 10 20 30

diff_bpmdeY

¥/ ndf 48.68 / 37

p0 29.15 + 53.48

p1 408.6 9.7 i
10000 M 1
5000 — II

of -
-mnnf— { IIII
- f

10000 |- }I f
15000 — )

Crlvv v bvvr e tvvve bvvva b rva b aa
=30 20 =10 (1] 10 20 a0

diff_bpmdeY

¥ / ndf 41.38 /37

p0 46.49 £ 50.77

p1 387.5+9.2 I

10000 | I -

5{:002— ) I+III )

-5[:002— IH]“I%

wof I I

150005— -
_IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

run6367 000 resression asym at vs diff bpm-fit postpan.pns’ = =

2000 ¥2/ndt  40.82/ 46

2000 p0  -12.04 % 18.13

-2.48 £ 048

1000

1
=
=
—

=1
TT T [T T T T [T T T T[T TT T[T T T T[T TT T[T TTT[T1
I I I I I I I
1
t
.
.
—
—+=
-+
—
-
—_

=1000

=2000

=3000

=000 ;w por v v bvrvr bv e b by
=150 =100 =50 i 50 100 150

diff_

I x2/ndf 3495/ 46
I p0
I

i p1 ~21.48 + 0.56
.|.

6000

4000 13.16 + 20.56

2000

1]

=2000

=4000

~6000

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
1
—
——
—_—
1

8000

10000 oo v b b o b s by aa g
=180 =100 =50 0 50 100 150

diff_bpm12X
soo00 - ¥ / ndf 67.31/ 46

30000 Hie p0 -9.058 + 17.674

20000 pi -274.3+ 05

10000

1]

10000

20000

30000

40000

.I_IIIIIIIIIIIIIIIIIIIIIIIIII|IIII|IIII|IIII|III

o

prv v b v bvr s trvra brr b
=100 -850 (1] B0 100 180

-15

diff_

0
) ¥2/ndf  49.91/46
40000

b, p0 11.2+18.8

e p1

30000

20000 -256.7 £ 0.5

10000

1]

10000

20000

30000

40000

_LII|IIIIIIIII|IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

!
-150 -100  -50 0 50 100 150




diff_ bpm1X  diff_bpmdaY diff bpmdeX  diff_bpmdeY diff_bpm12X

¥2 / ndf 27.03 /23 N %2 / ndf 44.6 /39 22/ ndf 20.95 /24 - %2 / ndf 22.93 /37 %2/ ndf 38.79 / 46
- 2000
p0  -8.556 + 17.985 2000 |- p0  -16.06 + 18.05 PO -8.996 * 18.050 | . | p0  -14.92 +18.05 po ~11.53 £ 17.90
p1 1.232 + 1.802 M [ - | h pl  -4.478 +3.218 pl  0.7025 + 1.8248 L ﬂf_ ] --W#’h‘l i Pl —2.179 + 3236 pl  0.1385 + 0.4848 |
T ” P it o - Jﬁﬂﬁ*%’&’"’“ " = il |'|M|+ F R E T
: - - } + “1p00 - o UW&W |
2000 |- i [ ]l ’ : : } + + + w
reg asym atll i l ~2000 |- ~2000 .\ - -2000 - 000 B )
— — —4000 __ B _ I —_ :_ E
: N } 4000 : } 3000 : 5000 ;_
~6000 :— ) I _&000 :_ - ~4000 |- } oo F-
[ ~B000 [~ - 5000 & -
8000 - ~B000 ) - ~4000 [
_II|III|IIIIIIIIIIIlIIIlIIIlIIIlIIIII _|IIII|IIII|IIII|IIII|IIII|IIII _|III|III|III|III|III|III|III|III| _E,DDD_|IIIIIIIIIlIIIIlIIII|IIII|IIII| IIII|IIII|IIII|IIII|IIII|IIII|II
=80 =60 40 =20 0O 20 40 60 BO =30 =20 =10 0 10 20 30 =80 =60 =40 =20 0 20 40 60 80 =30 =20 =10 0 10 20 30 =150 =100 =50 0 50 100 150
diff bpmlX = diff_bpmdaY diff bpmdeX diff_bpmdeY diff_bpml12X
72/ ndf 18.47 /23 i %2 / ndf 36.13 / 39 72 { ndf 26.03 /24 6000 |- ¥2/ndf  46.24/37 %2 / ndf 33.93 / 46
BOOO — B
po 10.72 + 20.38 ! p0 17.83 + 20.43 po 10.57 + 20.45 - I p0 13.61 % 20.44 p0 13.23 + 20.27
B 4000
B000 — |
p1  0.3099 + 2.0459 - pl  -1.648 + 3.654 pl  0.2653 + 2.0804 ] - pl  -1.653 + 3.679 pl  0.1611+ 0.5472 m
: nl B 2000 T I 'ﬁll HH
) W hjr 4000 2000 [~ - | | - |T‘ P
N g } [ L - } - | -
| - - ]l 4 bt ] l ob - | {M o ~2000 [ |
reg_asym_atrl .t |l ull of e A st | 3
4000 3 ofF i Wﬁ"ﬂ% gt MH 1 -2000 - : 000 _ | aon0 |- _
: B + ) ~4000 | " I ' _ I
~6000 [ ) -2000 ] H i ~4000 |- | 6000 -
i - ~6000 [ ) - - }
_II|III|IIIIIIIIIIIlIIIlIII|III|III|I _4.D|:||:|—|IIII|IIII|IIII|IIII|IIII|IIII _|III|III|III|III|III|III|III|III| _IlIIIIIIIII|IIII|IIII|IIII|IIII| -|IIII|IIII|IIII|IIII|IIII|IIII|II
-80 60 40 =20 O 20 40 o0 BOD -30 -20 =10 0 10 20 30 -80 60 40 =20 0 20 40 60 a0 -30 -20 =10 0 10 20 a0 =150 =100 50 0 50 100 150

diff_bpm1X  diff_bpmdaY  diff_ bpmdeX  diff_bpmdeY diff_bpm12X

%2 / ndf 25.01 /23 %2 / ndf 46.15 /39 %2 / ndf 12.87 /24 %2 / ndf 38.13/37 %2 / ndf 42.97 486
p0 -10.74 + 16.88 p0 —7.032 + 16.959 p0 -10.48 + 16.85 po -8.12 + 16.95 p0 -8.856 + 16.791
p1 2.057 +1.693 p1 0.3436 =+ 3.0560 p1 2915 +1.718 p1 0.6478 + 3.0522 p1 0.183 + 0.454 i
2000 : : ‘ ] } | | 2000 - } # 1000 _ 1 ~ : + }
N : } - - i } | i ’J - s W+W
I B } - ) C 4 i ¥ n
reg_asym_atl2 P o s ﬁﬂ | HMMH ok b h Bk i
— — n:— _ : | ﬁ k - } ~1000 | [ _2000
i ) ~2000 [ - - : -
2000 [ i - 2000 - + i - ! ~2000 | [
B - i ~4000 :— i _ap00 E- ~4000 [~
~4000 - i - - I
_|||||||||||||||||||||||||||||||||||| _‘mnn_|||||||||||||||||||||||||||||| —Eﬂﬂﬂ_l"'l"'l"'l"'l"'l"'l"'l"'l cappn b Lo b bv v by by by | o AN O AN N A NN N O AN B O B AN A AN O AN AN AN A
80 -B0 -40 -20 O 20 40 60 B8O 30 -20 10 0 10 20 a0 80 -0 -40 -20 O 20 40 60 BO 30 -20 10 0 10 20 30 ~180  -100  -50 0 50 100 150
diff bpmlX  diff bpmd4aY  diff _ bpmdeX  diff _bpmdeY diff bpml2X
E fndf 32977123 ){E / ndf 33.05/ 39 E f ndf 2597724 i 72 ndf 20.33/37 E ! ndf 51.86 / 46
BO00 [~
po 14.48 +17.31 ' p0 1527 £ 17.36 p0 16.24 +17.39 H i p0 1216 £17.36 p0 12.72 £ 17.21 i
+ -
pl  0.7773 £ 1.7404 p1 1.086 + 3.131 N pl 05757 +1.7642 + 4000 = pl  —0.9264 +3.1383 p1 0.1922 + 0.4671
i T g T | oF TWP;H[\ [ 0T
u: {Hljr +H+ : + ﬂ + ’\ - i W H| 2000 - T -
r trz ~2000 |- o - MMWJr -2000 - : } } + } - 2000 - }
eg_aSYIll_a i - _ | - ] o HﬁWﬁ%ﬁH o *w .
~4000 ~2000 - e I } | - H M
- - i - ~2000 |- }
~6000 [~ i ~B000 [~ -2000 § -
: a000 [ . ) I -4000 |-
-8000 [ ) I =8000 _4000 | } [
B [ I|IIII|IIII|IIII|IIII|IIII|IIII| _E"Dnn-'_llllllIII|IIII|IIII|IIII|IIIIIII

run6367 000 resression res af vs diff bpm-fit postpan.png = T



asym_atll

asym_atrl

asym_atl2

asym_atr2

run6367 000 re

15000

10000

5000

=5000

10000

15000

=80 =60 =40 =20 0O 20 40 60 80
diff_bpmXum

lthpmlL

20000

15000

10000

5000

=5000

10000

15000

20000

40000

30000

20000

10000

10000

20000

30000

40000

20000

40000

20000

20000

40000

-B0 -60 -40 -20 O 20 40 60 BO
difi _bpm1Xum

-80 -60 40 -20 O 20 40 60 8O
diff_bpm1Xum

-80 -60 -40 -20% 0 40 &0 80

15000 |- 15000 |- 15000
10000 [ 10000 10000
5000 5000 5000
= = 0
~5000 |- ~5000 | , ~5000
10000 [ 10000 10000
15000 [~ 15000 15000
[ | Clooa bvvr bvvn bv v b bov o bva o
-30 80 -60 -40 -20 O 20 40 B0 B8O 30 =20 -10 0 10 20 30
difi_bpmdaYium difi_bpmdeX/um difi_bpmdeYium
. ff . .
= = I = I
20000 20000 | 20000 |
15000 | 15000 | 15000 | '
10000 | 10000 | 10000 |
5000 5000 5000
o o of
~5000 |- ~5000 | ~5000
10000 10000 | 10000
15000 |- R 15000 |- 15000 |-
E'DDDD :l 1 1 11 | | | | L1 11 | 1 1 11 | L1 11 | 1 111 E'DDDU :l 1 11 | 111 | 111 | 111 | 11 | 11 1 I 111 | L1 1 E‘DDUD :I
30 -20 10 0 10 20 30 80 -60 -40 -20 © 20 40 &0 B8O 30 -20 10 0 10 20 30
difi_bpmdaYium difi_bpmdaX/um difi_bpmdaYium
! . ff ] I j I . .
40000 40000 40000
30000 30000 30000
20000 20000 20000
10000 10000 10000
oE - oF oE
10000 | 10000 10000 |
20000 20000 20000
ap0oo apooo apoo0
40000 40000 40000
50000 AN NNl NN NN NN AN 50000 Fl o b b b ba s beea b o Laa 50000 E L
ET 10 0 10 20 a0 80 -60 -40 -20 © 20 40 60 B0 30 20 -10 0 10 20 30
difi_bpmdaYium difi_bpmdeX/um difi_bpmdaYium
. . . ] I Y
I I I
40000 40000 _ 40000
20000 20000 20000
= : o+ o
20000 20000 20000 '
40000 40000 40000 |-
i I Ll .|...|....|....|...|....|

oression-asym at vs diff b

-80

-60 -40 =20

diff_bpmdaey/um

!
-2{) =10 10 20 30

m-scat ‘postpan.png’

15000

10000

5000

=5000

10000

15000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

o
n
=
[

—
=
=
|

=

5& 1HD 150
diff_bpm12¥/um

20000

15000

10000

5000

=5000

10000

15000

NI A A
EHUW%ED =100 =50 0 50 100 150

diff_bpm1 2X/um

40000

30000

20000

10000

10000

20000

30000

40000

crr v b brr g |l
Eﬂnq%ﬁﬂ =100 -850 (1] B0 100 180

diff_bpm12X/um

20000 —

20000

40000 —

| 111 1 | 1
=150 =100 -50 ﬂ 5ﬂ 1&0 150
difi_bpm12¥/um




reg_asym_atll

15000

=80 =60 =40 =20 0O 20 40 60 80
diff_bpmXum

iff_ bpmlX

20000
15000
10000

5000

reg_asym_atrl

=5000
10000
15000

20000

reg_asym_atl2

15000

-B0 -60 -40 -20 O 20 40 60 BO
difi _bpm1Xum

-80 -60 40 -20 O 20 40 60 8O
diff_bpm1Xum

reg_asym_atr

15000

run6367 000 resressio

-80 -60 -40 -20% 0 40 &0 80

n-reg

15000

10000

5000

=5000

10000

15000

@l

20000

15000

10000

5000

=5000

10000

15000

diff_bpmda¥ium

20000

wl

15000

10000

2000

=5000

10000

15000

i
na
==
I
—
=
=

diff_bpmda/um

wl

15000 =

10000 =

5000 =

5000 —

10000 =

15000 =

at

-2{) =10

vs di

diff_bpmda¥ium

bp

iff_bpmdeX

I 1 111 I | I | I 1 111 I 1 111 I | I | I 1 111
a0 -20 -10 0 10 20 a0
diff_bomdeY/um

iff_bpmdeY

15000 |- 15000
10000 10000
5000 5000
= 0
~5000 | ~5000
10000 10000
15000 15000
(] 1 Ll
B0 60 80
diff_bpmdeX/um
°
- I
20000 20000
15000 | 15000
10000 | 10000
5000 5000
o 0
-5000 | ~5000
10000 | 10000
15000 | 15000
:I 11 | | I L1 1
20000 T 20000
diff_bpmdaX/um
.
15000 | 15000
10000 | 10000
5000 5000
o 0
~5000 ~5000
10000 10000
15000 [ 15000
oo Lo bv o v by o g by e
80 -60 -40 -20 O 20 40 60 80
diff_bpmdeX/um
.
B —
15000 15000
10000 |- 10000
5000 |- 5000
= 0
~B000n :— =5000
10000 |- 10000
15000 - 15000
_I 1 1 1 I 11 I 1 11 I 1 11 I 1 11 I 1 1 1 I 1 1 I 111
80 60 - 0 0 20 40 80
1l
m-sca stpai
®

=30 =20 =10 1] 10 20 30
diff_bpmday/um

v v v v v v b b b
=30 20 =10 1] 10 20 an
difi_bpmdaYium

=30 -2{) =10 1] 10 20 30

n 2 diff_bpmdaey/um

15000

10000

5000

=5000

10000

15000

I
sy
Ln
=

20000
15000
10000

5000

=5000
10000
15000

20000

15000

10000

2000

=5000

10000

15000

I
—y
n
=

15000

10000

5000

~5000

10000

15000

I
=100 -50 0 50

100 150
diff_bpm12X/um

I
150 =100 -50 0 50

100 150
diff_bpm1 2X/um

L
=100 =50 i 50

100 150
diff_bpm12X/um

I
=150 =100 -50 0 50

100 150
diff_bpm12X/um



